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mester MCA Degree Examlnatlon, June/July 2024
Computer Networks

Max. Marks: 100

2. M : Marks , L: Bloom’s level , C: Caurse outcomes
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Module - 1 M| L C
Q.1 |a. | What is data commumcatron? Explaln components of a data| 10| L2 | CO1
communication systems. r

b. | Define computer network
disadvantages. o

and categorize its types ““““ * advantages 10| L1 | CO1

Q.2 | a. | Categorize the four basrc topologles in terms of llne conﬁguratlon 10| L2 | CO1

b. | Illustrate d1ffere layers in OSI model. 10 | L2 | CO1 |
S Module 2
Q.3 |a. | Apply NRZ NRZI Manchester ,fencodmg to the followrng bit stream: | 10 | L3 | CO1
0010111101000010 o A
b. | Distinguish baseband transmission and broad band ti‘fansrriission. 101 L2 Col1
Q4 |a. 10 | L4 | CO2
b. | Categorize andaile various fransmission mdes with examples¥ 10| L2 | CO2

QS5 |a. Compare and write the techmques of circuit swuchmg and message | 10 | L2 | CO3
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b. LlSt ahd explam four m components of d packet switch and their | 10 | L2 | CO3
A functlons 2 F Y, "

10 | L4 | CO3

10 | L2 | CO3

. Module — 4

Q.7 | a. | A bit stream 11001001 1s transmltted using the standard CRC method. The | 10 | L3 | CO4
generator polynomial.is X+ 1.

i)  What is the'actual bit transmitted?

ii)  Suppose-the third bit from the left is inverted during transmission.

How will;;;athe receiver detect the error?
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b. | Analyze the error detection technique of checksum and find" at kind of | 10 | L4 | CO4
arithmetic is used to add data item in checksum calculation "
BN N
OR
Q.8 [a.| Write the block coding and linear block coding with example. 10 | L2 | CO3
b. | Write about Haming code and write how the technique of error correction is | 10 | L3 | CO3
done using haming code by taking an example. ‘
Module — 5 L
Q.9 [a. | What is framing? Explain the types of framing and methods of framing. 10| L2 | CO2
b. 10 | L1 | CO2
Q.10 | a. | Compare and contrast he. GO-Back-N ARQ protocol:w 10 | L4 | CO4
ARQ 4 ‘lif!fi«z“ L .
b. | Compare and cd%ffaét HDLC with PPP, which one is byte oriented, which | 10 L4 | CO4 |
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